Converting Hex to Binary and Binary to Hex: Worksheet
	Binary
	Hex

	0000
	0

	0001
	1

	0010
	2

	0011
	3

	0100
	4

	0101
	5

	0110
	6

	0111
	7

	1000
	8

	1001
	9

	1010
	A

	1011
	B

	1100
	C

	1101
	D

	1110
	E

	1111
	F


	Example
	Binary = 0100101000111101

	Split into groups of 4 bits
	0100       1010         0011         1101
   

	Convert each group
	   4            A             3                D

	Answer in Hex
	4A3D


	Task 1
	Binary = 1100  0110  1111  0100

	Split into groups of 4 bits
	

	Convert each group
	

	Answer in Hex
	


	Task 2
	Binary = 0100100111011110

	
	

	Answer in Hex
	


	Task 3
	Binary = 1111100110111100

	
	

	Answer in  Hex
	


	Example
	Hex = 4  7  A  D

	Convert each Hex digit to binary 4 bit

	  4        7       A       D 

0100  0111  1010   1101

	Answer in Binary
	0100  0111    1010   1101


	Task 1
	Hex = 3 F F 1

	
	

	Answer in Binary
	


	Task 2
	Hex = 7DE2

	
	

	Answer in Binary
	


	Task 3
	Hex = FFFF

	Answer in Binary
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